EARAROBEEIERT — 2 N— IBISH —F 2014547268 (L) 1ERS5H

BLY:Esitss 63 v5R4mte (ER # (50 RIE [l [mmem -~ 2 ) oo a
[A&4] 1 3 37,000,000 § ~ 2 3% :15,000,000 @ . 3 7 :9,300,000 @ . 4 7 :5,600,000 @ 5 & :3,700,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
; L] - -1-1- ZoES
1 6lr171TLH b [B] # 5 54?(3) 1.(4_7).0 1-1-1-1 | 35.2101.7 | 5 | 518 Ig%ﬂ?ﬁ?ﬂ;ﬁ ESL)
RLix L THANAN BRI FSL— R -8) AR
i 5 | BEERE 1:47.0 3-4-3-3 | 34.9[102.6 | 2 462 |BEBE (ER)
ogq 7| Fr T —2 54.0 () o | B B-Fr-2257
L:F=TA NI B:72T74—0-X TATAT7—L
- P . REEEA (35
307l1a| 71X R =0 it 5 525*3 e 1.(417>.2 2-2-2-2 |35.3]99.3 | 16 | 468 %g_% (£8)
LT w TRy b BT7ANRY Y — (+8) KEHIS
.« - MEZE= . 910~ AARES (FHR)
a1l |91 >TUx=5 i 4 L 1(/4\1;)2 12-9-10-9 | 34.6 | 100.5 | 10 (4_324) i ?ﬂ‘/
R:Z2FA4D—IV K B:TVETUFT1— EvJILy RTrp—L
. — s 4 | HAR— 1:47.2 13-14-15-14| 34.2 [ 100.6 | 7 444 | AKHED (EH)
5/5[10| b—t=TI=% 53.0 ) C1o) | Bl
Rixfavynaye BT I—2 BREHM IXF477—LA
S A e S oy = JLHERS 147, -12-12- . . DNBEAESA (357H)
6 8 h—tboARZHTS % 5 Eio 1(34/74)3 9-12-12-11 | 34.6 | 99.5 | 11 422)2 i
R:FATATv— B:h—t>TUUT> RS IXF1T7—L4
= s 5 | AiElE 1:47.4 5-7-5-5 |35.1] 98.4 | 3 440 BT (EH)
7 4 L1hHh—7> 54.0 (1/2) (-8) TADRET
XD THANAN Bih—FI87— TS
S 4t 4 | BRI 1:47.5 3-3-3-3 [35.4] 96.2 | 14 | 490 |AZAREE (i)
8 5 tx>av 54.0 (3/4) (+10) m:‘%éﬁ?
RV RYTYZIIR B:R—% v RET X RS
= s 4 | BLBAF 1:47.6 5-9-10-9 |35.0| 96.3 | 8 502 | EEIE#R (3ER)
ofd11| 727777+ 5.0 76) o | B FrmokTr—A
R:7VFEE BUyFEH— J—HrIr—L
- i 5 | EHE 1:47.6 15-14-12-11{ 34.9 | 96.3 | 1 460 |tELAR= (BR)
10/1]2|7HY7T 14 54.0 (NF) L | @ ForoL-vry
RXTHANAN B:F P J—HrTr—LA
= - N FLEBAIT . ~5-8— KFERB— (i@
M . BEELPIE: it 4 P 1.(417>.8 5-5-8-8 | 35.4| 93.9 | 12 (4_648) P
L:a¥—K BEYTRH HIAZEy b
o o FlaEX : -12-14- EET (E)
" - R i 5 ;_0 1(.14/72.)9 9-12-14-14 [ 35.1 | 93.1 | 4 &6) = 5;
R:TITRRAFFL BT REIAYTLY J =¥ Ty — L
N . R el mE— 147, -16-15- . . THE (ERH
13/5/ 9] 2 YavLhy &R 4 5 53_0‘( (174279) 15-16-15-14| 34.9 | 93.2 | 15 (ﬁg) e
R:v>Ny&HhTr B:NyE-X¥xvy b HE%E
TR S it 5 | KREEE 1:48.3 13-9-8-5 [35.8| 87.2 | 6 468 | NBK (EH)
14/8|15| S v FH¥—T17 54.0 @ 1/2) © | H vIao-®AAE
L:a2=—/xLLy b B:Z2bAXY-T17 H—L—-TJvIXr - T7—LARS
s . BEREEX : —5-5- BEfE— (ER)
15l8l16l ¥ T it 5 D 1(74?:) 5-5-5-5 |36.0| 87.4 | 13 (4_?;6) B
R:NnN=Y774 B:NIVKI1F HET7—L
i “ ER Ty :48. -7-5- . . BEAE (ER)
1617113 TITZRZATILY % 7 54_01” 1(428)6 9-7-5-11 | 36.3 | 84.6 9 :?E) §m$%
/0704 B:AO0—94—k HET7—L
@ 71 L
) 47.0-35.2
NA>24 L | 12.7-10.8-12.0-12.5-12.0-11.8-11.7-11.3-12.2
® I —F—@EBIERL
12—F— (¥6,14) (5,7) (3,4,11,16) (8,12,13)1(10,15)-(2,9)
2= = 6,14,5,7(3,16) (4,13) (1,11,15) (8,12) (10,2)9
Gol=5r= (x6,14) (5,7) (4,16,13) (3,15) (1,11) (8,2)12(9,10)
43—+ — (x6,14) (5,7) (4,16,15)3(1,11) (8,13,2) (9,12,10)
[ N3
B O 6 900H 714K 6-7 520M e E 3-4 1,430 JEHE 6-7-14 45,330/
8 B 6 290M 6-14 9,610 B = 6-7 1,440 B 6-7-14 238,230
7 180M 7-14 6,970M| | B H 6-7 3,470
14 2,660

ABICOVWTRDTEEERROODE. TR LIV,




